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1. (4-points) Use cylindrical shells to set up, but do not evaluate, an integral for

the volume of the solid obtained by rotating the region bounded by the parabola
y? = x and the line y — z + 2 = 0 about the Ine-y = —4.

Pls of /mtersectim : "
' s ez D Y-Y-2z0= )
(\\d,z)(»\é-n):o =) Y=-lor2 P

= (1,-1), (H4,2) st Hu MNE

dy Seted gy [Cove)-o [ oY
sheld

Vo= [t L2e3-4'| 4

-1 , \2
(4-points) Find the average of the function f(x) = 3zsin2z on the interval [O, E]
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3. (4-points) Evaluate / (In5z)*dz.  [Do not use any reduction formula].
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4.  (3-points) Evaluate /(sec )% % tan® ¢ dz. '- T
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